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0001001 AET—TH 84 74 158 119 - 79 72 151 112 5 2 7 7
0001002 AET_TH 1,290 1,416 2,706 1,670 1,222 1,344 2, 566 1,555 68 72 140 101 14
0001003 AET=TH 922 988 1,910 1,156 899 970 1,869 1,123 23 18 41 23 10
0001004 AETMHTH 986 1,188 2,174 1,347 923 1,122 2, 045 1,249 63 66 129 83 15
0002001 RET—TH 722 728 1, 450 791 693 704 1,397 750 29 24 53 36 5
0002002 RETZTH 2,233 2,570 4,803 2,090 2,184 2,524 4,708 2,028 49 46 95 40 22
0002003 RET=TH 1,599 1,634 3,233 1,796 1,542 1,577 3,119 1,720 57 57 114 53 23
0003001 AZ—TH 669 680 1,349 830 627 640 1,267 761 42 40 82 61 8
0003002 #%_TH 1,040 981 2,021 1,314 990 926 1,916 1,224 50 55 105 74 16
0003003 #*Z=TH 995 1,016 2,011 963 977 1,001 1,978 938 18 15 33 19 6
0003004 AZMTH 878 862 1,740 916 857 847 1, 704 891 21 15 36 20 5
0003005 #AZAHTH 1,065 1,043 2, 108 1,191 1,035 1,013 2, 048 1,139 30 30 60 48 4
0004001 PEAR, E—TH 1,192 1,182 2,374 1,233 1,151 1,157 2,308 1,177 41 25 66 43 13
0004002 W, #£_TH 416 434 850 458 410 427 837 448 6 7 13 9 1
0004003 WA, #E=TH 975 906 1,881 1,011 963 890 1,853 985 12 16 28 20 6
0004004 WA, #NTH 707 648 1,355 629 695 634 1,329 614 12 14 26 10 5
0005001 HTET—T A 1,914 1,843 3,757 2,077 1,845 1,781 3,626 1, 987 69 62 131 76 14
0005002 HTET_TH 1,358 1,405 2,763 1,491 1,317 1,348 2,665 1,412 41 57 928 69 10
0005003 MTET=TH 1,084 1,046 2,130 1,156 1,045 1,009 2, 054 1,001 39 37 76 55 10
0005004 HTHTIHT B 649 687 1,336 685 637 675 1,312 667 12 12 24 15 3
0006001 PETCAT—TH 293 303 596 248 290 298 588 243 3 5 8 1 4
0006002 TEHFEETZT H 879 853 1,732 852 855 834 1,689 819 24 19 43 27 6
0006003 PEITAT=TH 748 737 1,485 713 739 724 1,463 694 9 13 22 12 7
0006004 TECHTIUT B 171 187 358 165 168 185 353 160 3 2 5 3 2
0007001 PFEET—T B 648 704 1,352 663 628 690 1,318 633 20 14 34 24 6
0007002 FEET_TH 1,103 1,286 2, 389 1,607 1,059 1,205 2,264 1, 486 44 81 125 114 7
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0007003 FEET=TH 1,620 1,886 3,506 2,408 1,538 1,785 3,323 2, 254 82 101 183 134 20
0008001 MHE—TH 1,108 1, 150 2, 259 1, 066 1,089 1,126 2,215 1,043 20 24 44 14 9
0008002 PE_TH 1,340 1, 446 2,786 1,333 1,292 1,402 2,694 1,278 48 44 92 41 14
0009001 BHET—TE 1,151 1,219 2,370 1,213 1,125 1, 200 2,325 1,181 26 19 45 28 4
0009002 BEHETZTH 1,280 1,271 2,551 1,342 1,240 1,232 2,472 1,277 40 39 79 53 12
0009003 HEET=TH 1,006 1,130 2,136 998 987 1,104 2,091 962 19 26 45 25 11
0009004 HHEETMT H 727 763 1,490 687 714 753 1,467 667 13 10 23 12 8
0010001 XRZE,#—TH 752 761 1,513 504 712 718 1,430 467 40 43 83 24 13
0010002 WA, ZE_TH 1, 246 1,279 2,525 1,268 1,205 1,230 2, 435 1,190 41 49 90 69 9
0010003 XA, #8=TH 2,173 2, 167 4, 340 2,014 2,124 2,116 4,240 1,944 49 51 100 56 14
0010004 RAR,-ENTE 1,556 1, 600 3, 156 1,631 1,517 1,553 3,070 1, 560 39 47 86 55 16
0010005 A, EETH 660 616 1,276 629 655 606 1,261 618 5 10 15 10 1
0010006 WA, #ATH 921 935 1, 856 886 899 922 1,821 858 22 13 35 21 7
0011001 ALET—TH 343 356 699 339 " 338 350 688 331 5 6 11 4 4
0011002 JLETZTH 274 263 537 241 267 258 525 231 7 5 12 6 4
0011003 ALET=TH 281 280 561 245 277 277 554 241 4 3 7 3 1
0011004 ALETET B 496 508 1,004 426 491 502 993 415 5 6 11 9 2
0011005 ALETETE 432 447 879 389 422 432 854 375 10 15 25 10 4
0012001 FA—TH 931 1,003 1,934 1, 000 919 977 1,896 971 12 26 38 19 10
0012002 FEZTEH 865 903 1,768 848 853 882 1,735 826 12 21 33 18 4
0012005 FAZTH 1,073 1,115 2,188 902 1,062 1,101 2,163 889 11 14 25 7 6
0012004 FAMTH 1,201 1,295 2, 496 1,057 1,179 1,281 2, 460 1,082 22 14 36 16 9
0013001 EEA—TH 1,157 1,211 2, 368 1,214 1,133 1,193 2,326 1,180 24 18 42 24 10
0013002 BLEAZTH 496 551 1,047 454 474 530 1,004 423 22 21 43 23 8
0013003 BEARZ=TH 681 725 1, 406 636 672 708 1, 380 617 9 17 26 12 7
0014001 HET—TH 558 576 1,134 439 557 572 1,129 434 1 4 5 3 2
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0014002 FET_TH 590 594 1,184 528 586 590 1,176 523 4 4 8 4 1
0014003 FET=TH 721 746 1,467 577 703 725 1,428 559 18 21 39 12 6
0015001 YET—TH 1,710 1,830 3, 540 1,745 1,683 1,794 3,477 1, 700 27 36 63 32 13
0015002 JEETZTH 778 705 1,483 875 756 690 1,446 838 22 - 15 37 34 3
0015003 XET=TH 776 803 1,579 669 760 791 1,551 657 16 12 28 10 2
0016001 WEET—T B 1,408 1,475 2,883 1,391 1,367 1,436 2, 803 1,348 41 39 80 32 11
0016002 FET_T B 1,126 1,192 2,318 1,062 1,116 1,179 2,295 1,043 10 13 23 10 9
0016003 WEET=TE 883 888 1,771 775 860 872 1,732 743 23 16 39 23 9
0016004 FEETIHT H 794 855 1,649 819 780 838 1,618 793 14 17 31 16 10
0016005 WEHETETH 899 996 1,895 836 878 964 1,842 800 21 32 53 18 18
0017001 EARET—TH 566 624 1,190 498 553 610 1,163 479 13 14 27 14 5
0017002 MAETZTH 445 493 938 409 439 481 920 398 6 12 18 8 3
0017003 ®ARHT=TH 508 534 1,042 437 500 524 1,024 423 8 10 18 11 3
0018001 IEAKRET—T H 823 810 1,633 728 773 776 1,549 658 50 34 84 66 4
0018002 W ARETZTH 338 330 668 262 334 328 662 257 4 2 6 1 4
0018003 YW ARET=TH 467 513 980 407 465 509 974 402 2 4 6 1 4
0019001 XFA—TE 832 873 1,705 840 807 849 1, 656 797 25 24 49 36 7
0019002 HFA-TH 1, 060 1, 154 2,214 1,073 1,048 1,143 2,191 1,055 12 11 23 13 5

A8 63,673 66,272 129, 945 65, 271 61, 979 64,506 126, 485 62, 643 1,694 1,766 3, 460 2,080 548



